
Remainder Scores 
What to do 

1. Use six mixed 2p and 1p coins placed in a mug 
2. Tip these out of the mug. 
3. Add up the coins that land heads up, e.g. 2p + 2p + 1p = 5p. 
4. Choose a number from one of the circles below. 
5. Divide this by the amount in heads, e.g. 124 ÷ 5 = … 
6. Score the remainder 
7. Repeat this six more times and then add up all the remainder scores. 

    

 

 

    124 ÷ 5 = ?  

  10 x 5 = 50     

  10 x 5 = 50 

   4 x 5 = 20  

 24 x 5 = 120 

so 124 ÷ 5 = 24 r4 
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   Score = 4 


